
Multiply by 10⁻³ (E)Find each product.
48 × 10⁻³ = 13 × 10⁻³ =
25 × 10⁻³ = 55 × 10⁻³ =
75 × 10⁻³ = 95 × 10⁻³ =
19 × 10⁻³ = 79 × 10⁻³ =
92 × 10⁻³ = 16 × 10⁻³ =
24 × 10⁻³ = 20 × 10⁻³ =
93 × 10⁻³ = 12 × 10⁻³ =
5 × 10⁻³ = 93 × 10⁻³ =
36 × 10⁻³ = 11 × 10⁻³ =
77 × 10⁻³ = 21 × 10⁻³ =
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Multiply by 10⁻³ (E) AnswersFind each product.
48 × 10⁻³ = 0.048 13 × 10⁻³ = 0.013
25 × 10⁻³ = 0.025 55 × 10⁻³ = 0.055
75 × 10⁻³ = 0.075 95 × 10⁻³ = 0.095
19 × 10⁻³ = 0.019 79 × 10⁻³ = 0.079
92 × 10⁻³ = 0.092 16 × 10⁻³ = 0.016
24 × 10⁻³ = 0.024 20 × 10⁻³ = 0.02
93 × 10⁻³ = 0.093 12 × 10⁻³ = 0.012
5 × 10⁻³ = 0.005 93 × 10⁻³ = 0.093
36 × 10⁻³ = 0.036 11 × 10⁻³ = 0.011
77 × 10⁻³ = 0.077 21 × 10⁻³ = 0.021
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